Force diagrams in equilibrium F:]
All objects are in equilibrium unless otherwise specified

1. Find T1, T2, T3 and T4. : 5. Find the angle and T1.
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6. There is no friction. The mass of block B is
40 kg. Find the mass and weight of block
A. System is at rest..

3. The blocks are moving at a constant
velocity. Find T1, T2, Ff on block A and

Fn on block A. )
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A 7. The block is moving at a constant velocity.
19kg
Block'B Find Ff and Fn.
Fpush=175N Fpull=300N
4. There is no friction. Find T1 and T2. e , .____2}§? ______
Block A=7kg Block B=30kg '
120 kg
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